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QUESTION 1

Which of the following are pain points relating to PC gaming experience? _MC
A. High software price

B. Piracy

C. No anywhere anytime access

D. Low hardware investment

Correct Answer: ABC

QUESTION 2

Which of the following massive MIMO statements are correct? -MC

A. Massive MIMO uses Large-scale antenna arrays

B. Massive MIMO improves capacity of a single call

C. Only horizontal beamforming is available

D. Legacy wide beams are replaced with narrow beams by adjusting then beam weight.

Correct Answer. ABD

QUESTION 3

In an industrial internet, sensors are used to monitor the status. which one of the following is the network requirement
case?

A. massive connections
B. high reliability

C. low delay

D. large bandwidth

Correct Answer: A

QUESTION 4
In the IMT2020 vision, which of the following is correct ratio of 5G service delay to the 4G service delay?

A. 1/50
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B. 1/10

C. 1/100
D. 1/20

Correct Answer: A

QUESTION 5

Which of the following is the maximum round trip time (RTT) of 5G -V2X?
A. 10ms

B. 5ms

C.20ms .

D. 50ms

Correct Answer: C
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